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III. CONFORMAL DECOMPOSITIONS

Let gαβ = ψλ g̃αβ . Then ∇αωβ = ∇̃αωβ − Cγ
αβωγ , where

Cγ
αβ =

1

2
gγµ(∇̃αgµβ + ∇̃βgαµ − ∇̃µgαβ) =

λ

2
(δγα∇̃β lnψ + δγβ∇̃α lnψ − g̃αβ∇̃γ lnψ)

Useful relations are

Cγ
γβ =

λN

2
∇̃β lnψ, g̃αβCγ

αβ =
λ(2−N)

2
∇̃γ lnψ

Defining (∇α∇β −∇β∇α)ωγ = R δ
αβγ ωδ we have

R δ
αβγ = R̃ δ

αβγ + ∇̃βC
δ
αγ − ∇̃αC

δ
βγ + Cδ

βµC
µ
αγ − Cδ

αµC
µ
βγ

and

R δ
αβγ = R̃ δ

αβγ + λ
{

δδ[αδ
ǫ
β]δ

ρ
γ − g̃γ[αδ

ǫ
β]g̃

δρ
}

∇̃ǫ∇̃ρ lnψ

+
λ2

2

{

−δδ[αδǫβ]δργ + g̃γ[αδ
ǫ
β]g̃

δρ − g̃γ[αδ
δ
β]g̃

ǫρ
}

∇̃ǫ lnψ∇̃ρ lnψ

Rαγ = R̃αγ − λ

2

{

(N − 2)δǫαδ
ρ
γ + g̃αγ g̃

ǫρ
}

∇̃ǫ∇̃ρ lnψ +
λ2(N − 2)

4

{

δǫαδ
ρ
γ − g̃αγ g̃

ǫρ
}

∇̃ǫ lnψ∇̃ρ lnψ

R = ψ−λ

{

R̃ − λ(N − 1)∇̃µ∇̃µ lnψ − λ2(N − 1)(N − 2)

4
∇̃µ lnψ∇̃µ lnψ

}

or equivalently

R δ
αβγ = R̃ δ

αβγ +
λ

ψ

{

δδ[αδ
ǫ
β]δ

ρ
γ − g̃γ[αδ

ǫ
β]g̃

δρ
}

∇̃ǫ∇̃ρψ

+
λ

ψ2

{

−
(

λ

2
+ 1

)

δδ[αδ
ǫ
β]δ

ρ
γ +

(

λ

2
+ 1

)

g̃γ[αδ
ǫ
β]g̃

δρ − λ

2
g̃γ[αδ

δ
β]g̃

ǫρ

}

∇̃ǫψ∇̃ρψ

Rαγ = R̃αγ − λ

2ψ

{

(N − 2)δǫαδ
ρ
γ + g̃αγ g̃

ǫρ
}

∇̃ǫ∇̃ρψ

+
λ

2ψ2

{

(N − 2)

(

1 +
λ

2

)

δǫαδ
ρ
γ +

(

1− λ
N − 2

2

)

g̃αγ g̃
ǫρ

}

∇̃ǫψ∇̃ρψ

R = ψ−λ

{

R̃ − λ(N − 1)

ψ
∇̃µ∇̃µψ − λ(N − 1)[λ(N − 2)− 4]

4ψ2
∇̃µψ∇̃µψ

}








































































































































































































































































































